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Standard Sudoku

Place a digit from 1 to 6 in each empty cell so that each digit appears exactly once in
each row, column and 2X3 box.

1 point 1 point
\'4 A4
5|4 5 1
6 3 4
4 6 1
1 4 2
1 2 £
3 2] Pl |5 6
1 point 1 point
\>4 v
4 5 3
3 12
2 6 3 1
1 5 1 6
4 54
1 2 6
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Standard
Sudoku

4 points

Place a digit from 1
to 8 in each empty
cell so that each
digit appears
exactly once in each
row, column and
2X4 box.

Standard
Sudoku

11 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.

Sudoku Bahabharat
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Standard
Sudoku

6 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.

Standard
Sudoku

7 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.
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Overlapping v
Sudoku

S 6
3 points
16 points 1 3
Apply standard 3 1

Sudoku rules to

each of the grids. )

Two grids are
overlapping. 2 4

39| |4]s8
8 6 7
9 5 4
»> 4 1 41 |5
8| |1 3| |9
9 8
7 1
1] |4 9| |7
9| |8 7 2
5 4 7
6 7 1
8|5/ |1]3
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Linked
Sudoku

5 points

Apply standard
Sudoku rules to
each of the grids.

Two grids are linked
to each other. The
shaded cells must
contain same digit
in both the grids.

Tudoku ahabharat
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Linked
Sudoku

16 points

Apply standard
Sudoku rules to
each of the grids.

Two grids are linked
to each other. The
shaded cells must
contain same digit
in both the grids.

Tudoku ahabharat
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6 8
4
4 2
6
4
/
1 9
6
/ 4
A4
9 4
4 8 5
8 7|1
2

w
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Disjoint v

Sudoku

1 point

Apply standard 4
Sudoku rules.

Additionally, no 2
digit can appear in
the same position in 5 6
different 2X3 boxes.

Disjoint \°/

Sudoku
2 3 9
9 points
4 3 9
Apply standard
Sudoku rules. 9 115

Additionally, no b ®)

digit can appear in
the same position in
different 3X3 boxes. 7 8 3 5

9 / 4
Tudokd Gahabharat Twisted Classics
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Mirror
Sudoku

1 point

Apply standard 2
Sudoku rules.

The four corner 1 3
boxes (top left, top
right, bottom left,
bottom right) all

contain the same
digit in symmetrical } 5
positions with

respect to the
center of the grid.

Mirror v

Sudoku

7 points

Apply standard
Sudoku rules. 1]8 4

The four corner 6 1 2
boxes (top left, top

right, bottom left, 5 1
bottom right) all
contain the same

digit in symmetrical 7 5 6
positions with

respect to the
center of the grid. 4 9 1

6 2 3
Tudokd Gahabharat Twisted Classics




Twin Givens
Sudoku

2 points

Place digits from 1-
4 in each row,
column and 2x3
outlined box.

Two cells will
remain empty as
these are twins and
of the same value.
No two twins can
touch each other in
orthogonal
directions.

Enter X for blank
cells, while entering
the answer key.

Twin Givens
Sudoku

8 points

Place digits from 1-
7 in each row,
column and 3x3
outlined box.

Two cells will
remain empty as
these are twins and
of the same value.
No two twins can
touch each other in
orthogonal
directions.

Enter X for blank
cells, while entering
the answer key.

Sudoku Bahabharat
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Standard Sudoku

Place a digit from 1 to 6 in each empty cell so that each digit appears exactly once in

each row, column and 2X3 box.

1 point

1 point

\'4

™M AN|T | WO | ©
—IOIM OIS | AN
O JTIOO N |
< O~ I M
NMVMIO T~ | O
O ~IN MO |

A
O OO | I~ N
N T OO M
MO N | <
MO AN | || ©
< TN OM | 1O
O OIT MOIAN |

1 point

1 point

3

1

2

2

1

1

546

1

3

546

3/1/2]14|6|5
4163125

112|5]|6|3|4

2

6/5(4]3

5

3

1

1

6

3/4|6

1

1

5

65432

413/6]2

2

5142

611 3|15/ 2|4
3/2(4]16|5

1
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Standard
Sudoku

4 points

Place a digit from 1
to 8 in each empty
cell so that each
digit appears
exactly once in each
row, column and

2X4 box. P

N w|o | slo | =]n | ofg

N 2O OIN O|W |~

O O1I= DDA~ W |0

- OO 01D N+~ W
O oD W |H~]J00 |

W N[~ O]=|DDJOT|O
O A~JW NI D
A NDIN W00  OM]|OO | —

Standard
Sudoku

11 points }
Place a digit from 1

to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.

No|lolp wla]lol o]~
o N alvlolo|lw| ~|o
ol w/ ~N|lololald ol
wlo|lwlolsiN|jad| o
o o|rlolod|a| N wlg
N oalv|alo|w|lo|lo| s
wi N olovalr|o|=
N R o|lw oo~ oo
SIENEY ENEIRE] IS

|
|
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Standard
Sudoku

6 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.

Standard
Sudoku

7 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.
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\'4
36714829 5|1
5/4(219|1|7]3/6 |8
8 9116 /5[3|7|4]|2
6,7 3112418/ 9|5
21181539674
415/917/6,8]1/2|3
9,2/ 618/ 4/1]15|3|7
/718413951216
1135|2764 |8/|9
\'4
28611541937
5/1/417|3|9]6/2 |8
/7193186214 5|1
4167128 |3]11/9]5
3/2(8]15(9|1]7/4|6
9/5(114|7|6]3/8|2
8/7/913/1/5]2 64
113/2]6[4/8]|5|7/|9
6/4(519(2|7]8|1]|3

|
|
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Overlapping v
1

Sudoku

3}

1

41543

1

213614

61415 3}2

1

1

5

3/4/6]2

5/3/416 |2

2

6123151416

316 |2

4

3 points
16 points

Apply standard
Sudoku rules to

each of the grids.

Pl1|4/513]|6|2]1

Two grids are
overlapping.

LOINT~TINOMOO|O | 0| T
OO M OO~ AN
< N OO~ NJO [ LOTM
N DO TTJO M JFTIOINOIAN O | ™
OINTIOIOOIN]T O MIT N O
OO M O NN O  T|O M| O
<N MO O N~ OO O I INM | T |00
NIO DO T OO0 N |~ JWIo | O |~
O~ NN O T O~ N O
O NOIT O |||
OO OO NI | AN
I INO NOJO | M| O
A
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Linked
Sudoku

5 points

Apply standard
Sudoku rules to
each of the grids.

Two grids are linked
to each other. The
shaded cells must
contain same digit
in both the grids.

Page |5

\'4

5/6(3|4 2|1
2/4(1]165|3
3/1/6]5|4]|2
415121316
625|134
113/4]12|6|5

v

215|346 |1
11412653
3/6|1/5]4)|2
41115|3|2|6
5/2|6[1]3 4
6/314/2|1|5

Sudoku Hahabharat

Twisted Classics



Page |6

Linked

3

1

9

1

3

9

4

8126

1

1

9

1

217184

214|6

1

541678

1

1

/716,83

1

3/6/8]4|9]|2

315|428

1

1

8192|6357

1

419131572

5

1

8714193265

8192|6357

1

3192

846127915

/
4

9/7(3]|5|4

2/6/518|3/719 |4
612/ 417/8|5

1

513|916

416127191835

1

6

Sudoku

16 points

Apply standard
Sudoku rules to

each of the grids.

Two grids are linked
to each other. The

shaded cells must

contain same digit
in both the grids.

71913]18|5

1

5/8(2]|3|6|4]7

4

6|79

3/5|7]6|8|2

8

9121415

Pl23(5]7/4(8|9|61
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Disjoint
Sudoku

1 point

Apply standard
Sudoku rules.

Additionally, no
digit can appear in
the same position in
different 2X3 boxes.

Disjoint
Sudoku

9 points

Apply standard
Sudoku rules.

Additionally, no
digit can appear in
the same position in
different 3X3 boxes.
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>

\'4
114/2]15|3|6
5/3|6]1/4 |2
31511624
2641315
41151263
623|451

A4
112/5]16[(3[8|9|7 4
4/8/3|17/9/5]16 21
6 9 714 2/1]15/8|3
2/5/113/8[7]14,9|6
9/7/8]11|6|4]3|5]|2
3/6(419|5/2|7/1|8
/711,/215/4/3|8|6|9
54618191237
8/3(912|7|6]1/4]|5

|
|
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Mirror
Sudoku

1 point

Apply standard
Sudoku rules.

The four corner
boxes (top left, top
right, bottom left,
bottom right) all
contain the same
digit in symmetrical
positions with
respect to the
center of the grid.

Mirror
Sudoku

7 points

Apply standard
Sudoku rules.

The four corner
boxes (top left, top
right, bottom left,
bottom right) all
contain the same
digit in symmetrical
positions with
respect to the
center of the grid.
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>

3/5/6[1/42
411/2|5/3|6
5124|361
116/3|4/25
6/3|5[2|1|4
Pl 41|65 3
A4
3/8/4|7/1/2]|5/9|6
9/ 2(7]5/6|4|8|31
56/1|8/9/3|2|7 4
8 46|13/ 7|95 2
2/ 5/9|6/4/8|3|1|7
711/3|l9/2/5|6|4|8
417/2|3/8/9]|1/6|5
1/3,8l4/5/6|7[2|9
6/9/5|2/7/1]|4/8|3

|
|
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Twin Givens
Sudoku

2 points

Place digits from 1-
4 in each row,
column and 2x3
outlined box.

Two cells will
remain empty as
these are twins and
of the same value.
No two twins can
touch each otherin
orthogonal
directions.

Enter X for blank
cells, while entering
the answer key.

Twin Givens
Sudoku

8 points

Place digits from 1-
7 in each row,
column and 3x3
outlined box.

Two cells will
remain empty as
these are twins and
of the same value.
No two twins can
touch each otherin
orthogonal
directions.

Enter X for blank
cells, while entering
the answer key.

Sudoku Bahabharat
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